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FACTOR THEOREM

Factorise the following polynomials into 3 brackets.

Remember to substitute numbers for the first bracket and then use either division or equating coefficients to get a quadratic. This quadratic should then be easily factorised for the other 2 brackets.
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EXTENSION

11.
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Answers

1. (x + 1)(x – 2)(x – 3)

2. (x + 3)(x + 2)(x – 2)

3. (x + 2)(x – 1)(x – 3)
4. (x + 1)(x – 1)2
5. x(x + 1)(x – 2)
6. (x + 4)(x + 1)(x – 3)
7. (x + 3)(x + 2)(2x – 1)
8. (x + 1)(x – 1)(x – 2)
9. (x + 2)2(x + 1)
10. (x + 3)(x + 2)(2x + 1)
11. (x + 2)(x – 1)(x2 – x + 2)
12. (x + 5)(x + 1)(x - 1)(2x – 3)
P.Benson/C.Pryde

Oct 2006 

 


_1096101104.unknown

_1096101243.unknown

_1159087381.unknown

_1159338268.unknown

_1096101298.unknown

_1096101332.unknown

_1096101194.unknown

_1096101219.unknown

_1096101144.unknown

_1096101022.unknown

_1096101060.unknown

_1096101000.unknown

